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QUESTION 1

Based on the show display below, what should be done to further trouble the LSP problem? Choose all valid actions.

Mode 4
10.10.14

il
L T \
MNode 3

IMode 1
10.10.1.1 \ 10.10.1.3

I e
Al imne

i 0
Ly [

# shcw router mpls lap tolNoded path tolloded detail

MPLS L3P tolNode3 Path [Detaili

Legerd -
i - Detour Available
k - Bandwidth Protected

# - Detour In Use
n - HNode Protected

Letusl Hops :

Lo Hops Specified

L3P Kame : tolNode3 Path L3F ID 1
From i 0 g Eha P To 10.10.1.3
Lewm Ztate : Up Oper State : Down
Path Name : toMNode3 Path Type : Primary
Path Admwmin : Up Path Oper : Down
outIrterface: n'a out Label ! nia
Path Up Tiwe: Od 00:00:00 Fath Dn Tiwe= : 0Od 00:01:12
Retry Limit : O Fecry Timer ;.30 sec
Recryiccempt: 1 Next Retry In o = g 1= T
Banduvidch : No Reserwvation Oper Bandwidth : 0O Mbps
Hop Limit : 255
Record Route: Eecord Record Lakel : Record
Oper MTU : 9193 Negotiated MTOD @ 9188
Adaptive : Enabled MEE State : NJL
Include Grps: Exclude Grps
None None
Path Trans : 8 C3PF Queries u}
Failure Code: noRouteTolestina-ion Failure Node 10.10.1.1
ExplicicHops:

l0.10.1.4% —» l0.10.1.3

A. Check all the interface filters to make sure no LDP protocol is blocked

B. Check all management filters to make sure no RSVP-TE protocol is blocked

C. Verify all explicit hops are reachable via IGP

D. Make sure MPLS is enabled on all appropriate interfaces

E. Make sure LDP is enabled on all appropriate interfaces

Correct Answer: BCD
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QUESTION 2

A SDP is created on Node-2 with the far end address set to Node-3. The SDP stays down on Node-2. Based on the
following CLI output from Node 2, what is the caused of the problem?

Hode 1 Hode 4
10.10.1.1 101014

—1

i .I:s'l'i?iii:l;'
i imim il [0

Hode 2 Naode 3
10.10.1.2 10.10.1.3

Node 2

# show serwvice sdp 106 detail

Sdp Id 106 - (10.10.1.3)

Last Mgmt Change
Flags

12/18/2006 16:55:3
: TransportTunnbown

# show router ldp session

]

SDP Id : 106

Achnin Path MTUO 8] Cper Path MNTU 8]

Far End e F 2 i U L PRI Delivery : LDP
Admin State : Up Oper State : Down
Signaling : TLLP WLAN VC Ecype 1 OxB100
Adoet. Pol : None Collect Stats ! Disabled
Last 3tatus Change 12/18/2006 17:16:36 Adwv, NTU Owver. : No

Feer LDFP Id Adj Type State Mesg Sent Mesg Recv Up Time
10.10.1.1:0 Both Established 36658 121998 Fa 0756135
10.10.1.3:0 Targeted Established 540 541 Od 00:45:38
10.10.1.4:0 Targeted Estaklished 1183 1183 Od 01:47:15
# show router ldp bindings active

Legend: [3) - Static

LDP Prefix Bindings (Actiwve)

Frefix 10)4] IngLhbl EgrLhl EgrIntt EgriNextHop
10.10.1.1/32 Push i 131071 1/1/3 10.1.2.1
1ciged 2452 Pop 131071 e == e
10.10.1.4/32 Push b 131070 1/1/3 10.1.2.1

No. of Prefix Bindings: 3

A. No LDP link session between Node 2 and Node 4
B. No LDP link session between Node 4 and Node 3

C. No LDP link session between Node 1 and Node 4
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D. No LDP link session between Node 3 and Node 2
E. None of the above

Correct Answer: B

QUESTION 3

Which one of the following CLI can be used to view all management VPLS configured on a 7x507?
A. Show service service-using m-vpls

B. Show service service-using

C. Show router vpls detail

D. Show service id base

E. There is no CLI command to display management VPLS

Correct Answer: B

QUESTION 4

An operator has entered the following CLI commands to configured redistribution of OSPF routes into I1SIS. None of the
active OSPF routes are redistributed into ISIS, what is the problem in the CLI commands?

configrrouterrpolicy-options:> begin
policy-statement ospf-isis
entry 10
action accept
from
protocol ocopf
exic all
configrrouter>isiss
area-id §9.1000
export Tospf-isis”
interface "tolNodezZ'™

A. OSPF area has to be configured as NSSA

B. Default-action has to be configured as accept

C. Import policy has to be configured under OSPF

D. The policy is still in edit mode, therefore it will not take any effect
E. to protocol isis has to be added under entry 10

Correct Answer: D

QUESTION 5
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A CSPF LSP with no bandwidth requirement is established from Node 1 (10.10.1.1) to Node 2 (10.10.1.2). OSPF-TE is
enabled on all routers in the network. What commands can be used on Node 1 to determine if another LSP can be
established to Node 2 with 400M bandwidth requirement? Choose all that apply.

A. Show router Isp detail

B. Show router ospf database detail

C. Show router ospf opaque-database detail

D. Tools perform router mpls cspf to 10.10.1.2 bandwidth 400

E. Tools dump router mpls Ispinfo

Correct Answer: CD
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